N = 0l & At & Ml A

SN =XFYD
HE: £2% 49 =X DH(ASSX /A ST L)
Sl MW BXEY X

HE =X A (9l @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

SX &M 735,543,113 638,312,781 97,230,332
= 476,728,369
s 10,529,000
J| 3,105,751
< 245,179,993

QN S SXIIE PFH(MESX/AE S L8t 30,084,391 22,714,603 7,369,788
= 14,966,802
s 10,529,000
< 4,588,589

HdE =2XEE =4 28,976,146 21,630,277 7,345,869
2 14,692, 168
s 10,529,000
< 3,754,978

AMEISER L =2 209,400 198,200 11,200

201 2et2d]| 35,000 37,200 A 2,200

01 At 22l 35,000 37,200 A 2,200
OMIBISXSAX HRML 823 24 3,000
OMISELARAS 2 7,000
OAMIA=SXAE EIt 16,000
OASI =X AR O 9,000

202 o4dl 15,000 15,000 0

01 = LH o4 1l 15,000 15,000 0
OAR=X AR O 15,000

203 ¥ S =&l 45,000 50,000 A5,000

03 Al =AY R =&Y 45,000 50,000 A5,000
OA2 =X SSAH =& 45,000

307 glz2tol & 66,400 48,000 18,400

11T MIZRAE E 66,400 48,000 18,400
OAESEXA Exu=® XA 60,000
OZ3E MI=XALE K& 6,400

308 A EHHSOIA 48,000 48,000 0

01 HXNHHBHELS 48,000 48,000 0
OMal=ERME = XI& 48,000

Ne=XAg Jrer =4 1,894,170 924,723 969, 447

201 LBt2d| 21,700 7,700 14,000

01 At 22l 21,700 7,700 14,000
OASEHEMY =& 4,700
O3 L=XNRJCHAY =2 17,000

202 O4dl 9,000 9,000 0

01 =S LHAYI 9,000 9,000 0
OS|L=RRHACHALY =2l 9,000




SH SNEHY
B 29K B49 =
Sl MW BXEY X

22 T8 (g:aR)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
307 glztol & 589,530 472,543 116,987
05 22t & =2 129,080 93,494 35,586
OZJE M=K 2 AE2SF 78,690
OZAZ M=z JIIs2H 50,390
10AMSANANEEESEHES 322,250 252,849 69,401
OYAZA=XE2A3 2 177,000
oZFEYs 29 145,250
M ASIMNSEX 138,200 126,200 12,000
OZEAZANI=NSS233 29 62,000
O A =AU X3 15,000
O=H? AMIASXIN2 SAL M2HL ¢
A& 61,200
308 XXM S0l ™ 1,239,440 435,480 803,960
01 HAHHZEES 1,239,440 435,480 803,960
OAZ ABISXIDJI28 SAX HRME =X 28,440
QA - 2 AMB=XE2s 29 270,000
OZ=0t 2g 15,000
OXNG A EHE AN 43t 126,000
OXSAte SSHES 4 A 29 800,000
403 X SHHSA=01H 34,500 0 34,500
01 HASHH =R = 34,500 0 34,500
ZFC0 X s 22 20,000
OAl -2 AMEXE2 JIsEd 14,500
MBI SERIMNY =& 121,980 111,610 10,370
307 212t0l & 121,980 111,610 10,370
10 M SXNANEEE2SHES 121,980 111,610 10,370
OLATANSHEELNH 298 121,980
NASS DMK 023 23(2D) 2,937,990 0 2,937,990
= 2,448,325
& 489,665
308 XXM SO0I™ 2,937,990 0 2,937,990
= 2,448,325
< 489,665
01 HAHHBdEES 2,937,990 0 2,937,990
ONASE OIMERX OtA3 23 2,937,990
= 2,448,325
= 489,665
AMERHME NE(=21) 8,900,071 5,956,968 2,943,103
= 8,898,103
= 1,968
301 LEIEN = 7,638 7,638 0
= 5,670




2N
Dk B4 SR RE(MESX/AE SR
X

el

X ZH
S =

EPARSE )

A 2XsH

(AL LS|

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

< 1,968

0B A =RRAB LS 7,638 7,638 0
OAZ SRR S4H| 1,968
OMI=RRA B 5,670
= 5,670

308 XXM SO0 A 8,892,433 5,949,330 2,943,103
= 8,892,433

01 AXNSHHBLAEES 8,892,433 5,949,330 2,943,103
OAI=ERHE K& 8,892,433
= 8,892,433

AT ALSIMHIAR B8 =X (=21) 740,000 0 740,000
= 520,000
< 220,000

201 L2l 40,000 0 40,000
= 20,000
< 20,000

01 At 22l 40,000 0 40,000
OAMIMEIARE 8 =X 40,000
= 20,000
< 20,000

401 Al I & 28I 700,000 0 700,000
= 500,000
= 200,000

01 A& HI 683,970 0 683,970
OAZIAMEIAR A8 =& 683,970
= 488,550
< 195,420

02 Zeltl 11,620 0 11,620
OAMIMEIARE 8 =X 11,620
= 8,300
< 3,320

03 Al 2 0HHI 4,410 0 4,410
OMIMEIAR A8 FX 4,410
= 3,150
< 1,260

NSAASIBEEEAM 2 45 N (=2) 10,000 11,000 A 1,000
= 10,000

307 2Izt0l A 10,000 11,000 A 1,000
= 10,000

11 AISISAAIEE = 10,000 11,000 21,000
OXYAsI2ZEAN 435 XA 10,000
= 10,000

AtBI S XIerg ol X (=21) 475,000 1,459,500 984,500
= 475,000




-

B Q% BN =XIIY PE(ASS/AE =T L)
e A8 EXEsd =4 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
308 AXISHXMSO0IH 475,000 1,459,500 A 984,500
= 475,000
01 HXHNBMNEXTZ 475,000 1,459,500 A 984,500
OAM3IEX O™ olAH| X3 475,000
= 475,000
SHES U=d SsAHlA IR (=2D) 1,105,440 1,134,840 N 29,400
= 1,105,440
308 AXISHAMSOIH 1,105,440 1,134,840 AN 29,400
= 1,105,440
01 IXHHIMNEXS 1,105,440 1,134,840 N 29,400
OsHs A=d SEMEIA XA 1,105,440
= 1,105,440
SStAtl 22l AN 1A X (=) 862,950 839, 000 23,950
= 862,950
308 XX SHAHSOIH 862,950 839, 000 23,950
= 862,950
01 AIXHMBAEXZ 862,950 839, 000 23,950
OSE A Z2IA 21248 K& 862,950
= 862,950
ANZF SsAtd 22 X (=21) 135,000 135,000 0
= 135,000
308 AXISHXSOoIH 135,000 135,000 0
= 135,000
01 AXHNBMNEXZ 135,000 135,000 0
OANZF S Al 22l K& 135,000
= 135,000
KNEXNEE MBI AHHA EXAY (BEX)(ME) (2D 10,943,345 10,343,556 599,789
o 10,272,800
& 670,545
308 X SHAMSOIA 10,943,345 10,343,556 599,789
rag 10,272,800
& 670,545
01 HXHHBIMNEXS 10,943,345 10,343,556 599,789
OXSAMI MEIAEXAY XA 9,094,945
hag 8,424,400
= 670,545
OJIAZIY &2 K& 1,795,000
fag 1,795,000
OXSEAMIMUIAETAIY 29H| K& 53,400
hag 53,400
TATEE ABIMEIA SXAY (BX)(M48)(2D 366,000 336,000 30,000
(=)
= 256,200
== 109,800




SN =SXHHD

FH: 2L SHO SXIIE AF(ASI=X/AIS SR LB
Sl MW =XEY X4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 6,000 6,000 0
s 4,200
< 1,800
01 = LHA YI 6,000 6,000 0
OXNGAS MU AETAY =& 6,000
s 4,200
< 1,800
307 21201 A 360,000 330,000 30,000
as 252,000
< 108,000
11T MISXASEX 360,000 330,000 30,000
OLEZXNIAMIIMNEIAXAH 2H 360,000
s 252,000
S 108,000
NATEs MIMEA SXAIYE 2 il 2L (= 124,800 143,700 18,900
2)
= 87,350
< 37,450
307 glz2+ol & 124,800 143,700 A 18,900
= 87,350
< 37,450
02 QB LA EX 124,800 143,700 218,900
OXNG A MHIA HEAMHE 2 124,800
= 87,350
< 37,450
FOMESHES ZZMUA A Z23H(=12) 150,000 0 150,000
= 150,000
308 XtXIEHH SOl A 150,000 0 150,000
= 150,000
01 HXNHHMBHEELS 150,000 0 150,000
OFQUMESHZTO Z3MHIA AN 235t 150,000
= 150,000
SNAE 25D 2SN & 1,108,245 1,084,326 23,919
= 274,634
< 833,611
AMZIEXAIE 28 =8 715,913 732,152 A 16,239
307 gl2tol & 222,640 165,770 66,870
11T M SXAISE EX 222,640 165,770 66,870
O ASIZXAIE BSAX E2X+E 218,880
OZg At S & A&2ds A3E 3,760
308 XX EHH SOl A 463,273 528,882 A 65,609
01 AXSGHBLELS 463,273 528,882 A 65,609
OAZ ASIZXAIE SAX =2X==E 416,880
OMA2H A DAIE K& 18,840




2 S2XNEMY
Hz: QX ZSAQ =2XJIE E(AA=X/AHe =X L)
H@He: SXAE 50 29XH (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OMIIESXAIE SAA AoHEE Il XA 27,553
403 ItXISH M S A201 & 30,000 47,500 A 17,500
01 AIXISHMA2E X 30,000 47,500 A 17,500
OZEAMsIEXN2 Js BL 30,000
MNISXAIE SAX Mo Xa(22)(2Y) 392,332 352,174 40,158
= 274,634
T 117,698
307 QI2t0| ™ 392,332 352,174 40, 158
= 274,634
= 117,698
11T AISISXAIE EX 392,332 352,174 40,158
OMIZ2XAIE SAX UHE X 392,332
= 274,634
& 117,698
BEAAUMM SHMG (A 2X/BEE) 5,885,600 5,382,000 503,600
BE2HAAISE X 5,885,600 5,382,000 503,600
SECH K& L BSAY F& 5,807,600 5,233,000 574,600
201 LEt2 Y| 13,200 13,200 0
01 AP 22l Yl 13,200 13,200 0
OLJAL=UHA =4 = 9,000
OYAHEI HdAY 4,200
307 QI2t0| ™ 678,400 663,000 15,400
03 AAHXNEE2IHES 220,000 220,000 0
OBEHM S29Hl X& 220,000
10 Al SXAIEEE2IHIEX 55,000 55,000 0
o B3l 24 K& 55,000
11T A SXAIE EX 403,400 388,000 15,400
oM0lzZZE =z ME ¥ 24 X 91,000
OBEIE A=A X & 57,000
OMAS 2SS A MEXA 32,400
OR=tHH 392 X 178,000
O BEECHEos 43 XA 5,000
O=It73A &dlod XA 40,000
308 XX SHAMSOIA 4,116,000 4,534,800 N 418,800
01 AIXHMBAEEXZ 4,116,000 4,534,800 N 418,800
©6-25 J|8d#HA X & 20,000
OsER3A - "1 2=zH XA 30,000
O=sgsw3Ai X otLiE &AX XA 7,000
oL FHYU=E K& 4,059,000
401 Al HI YL 2 0HHI 700,000 0 700,000




SA: 2X™ 2
MM ESHAFM SMH(ASEXN/EE)
o9 BELYAY X CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 700,000 0 700,000
OS2I =2E 0|™ HE X 700,000
402 SI2F 20| ™ 300,000 22,000 278,000
01 QI E A E X (M) 300,000 22,000 278,000
OS2 AaE=2E 0|8 HE XA 300,000
Al BE&E35 2 JDlsEY X 78,000 149,000 A 71,000
403 XX S M S K201 & 78,000 149,000 A71,000
01 XS A2E X 78,000 149,000 71,000
OEECH Jse2d 4 78,000
Z0J|ZME SR (AL EX /I ZMEE A 242,032,973 208,551,217 33,481,756
= 219,545,321
= 22,487,652
MASsS N3 2H=K &8 207,260,057 179,765,408 27,494,649
= 186,613,552
= 20,646,505
MASsEs EEXF 248,000 248,000 0
201 gEt2A | 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
OIZMESEIAIY =& 5,000
202 o4l 8,000 8,000 0
01 2Ll 8,000 8,000 0
OIZMESIAIY =& 8,000
308 MXISHMSOIA 235,000 235,000 0
01 IXHHIMNEEXTZ 235,000 235,000 0
OXAa? 212X 235,000
282X XNH(=21) 5,449,500 5,227,950 221,550
= 5,190,000
== 259,500
308 AHXIEHSOIA 5,449,500 5,227,950 221,550
= 5,190,000
= 259,500
01 AIXSHMEMNEX= 5,449,500 5,227,950 221,550
o2=2=2X KA 5,449,500
= 5,190,000
= 259,500
=0 £ EXNXNF(L=0A4E 29X)(=2D) 2,722,217 2,559,463 162,754
= 1,905,552
& 816,665
308 XAHXIGHH SO0l & 2,722,217 2,559,463 162,754
= 1,905,552
& 816,665

~




2N

MM 200 ZMESH (NS IIZLEEE)
Sl HASS D HO=X CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
01 HIXNHHNBHNEES 2,722,217 2,559,463 162,754
L=0AE 29 AE 2,722,217
= 1,905,552
< 816,665
=0 S SIXNE (=sAM4E JIs22)(21) 3,000,000 180,375 2,819,625
= 2,000,000
= 1,000,000
403 A X EHS =0l A 3,000,000 180,375 2,819,625
= 2,000,000
=) 1,000,000
01 HXSHHG=EE 3,000,000 180,375 2,819,625
OL=2A4 Js22 XA 3,000,000
= 2,000,000
=) 1,000,000
L=0 SEXNAE BAX B 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
11T M SXAISE E X 3,000 3,000 0
OL=0 SXAE SAXL L= 3,000
MA=0 X2 (Z2) 194,112,700 169,551,121 24,561,579
= 176,123,000
=) 17,989,700
308 X EHSOIA 194,112,700 169,551,121 24,561,579
= 176,123,000
< 17,989,700
01 XN EES 194,112,700 169,551,121 24,561,579
OMA=N 194,112,700
= 176,123,000
< 17,989,700
nEss0 XN 223,186 304, 131 N 80,945
308 XXM SOIA 223,186 304, 131 N 80,945
08 WFJl20Ust2=x 223,186 304,131 A 80,945
Ou=sso 223,186
HMFHESAH KR (2D) 1,501,454 1,691,368 A 189,914
= 1,395,000
< 106,454
308 MtXIEHMSOIH 1,501,454 1,691,368 A 189,914
= 1,395,000
< 106,454
01 HXNHHBHELS 1,501,454 1,691,368 A 189,914
O A Z RIS O 1,501,454
= 1,395,000
=) 106,454
gl XE - g X 34,772,916 28,785,809 5,987,107
= 32,931,769




2N

SXE3
HH: R ZHEEH(AISX/IZHELE)
ool gYE NE - NE K (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,841,147
g 2 NG=2X 88 =8 90,000 38,000 52,000
307 glz2tol & 25,000 38,000 A 13,000
11T M SRAISE EX 25,000 38,000 A 13,000
OXNSTEEH AL 3HALY 25,000
403 MtXISHHE X201 E 65,000 0 65,000
01 AXSHMA=2EE 65,000 0 65,000
OXNdxgdH Js2d XN&E 65,000
g2z, NAHeEdy 2 Z29iadH22(=22) 30,231,194 24,958,104 5,273,090
= 28,639, 167
< 1,592,027
308 XX EHHSOIA 30,231,194 24,958,104 5,273,090
= 28,639, 167
< 1,592,027
01 HXNHHBHELS 30,231,194 24,958,104 5,273,090
oxgzz & 25,376,770
= 23,876,460
< 1,500,310
oxg&elz NA 1,596,602
= 1,504,885
< 91,717
OXAX &y 29 3,257,822
= 3,257,822
ez, NAHEdE 2 2A9adH22(=32)( 530,400 515,000 15,400
)
= 371,280
< 159,120
307 21201 A 530,400 515,000 15,400
= 371,280
< 159,120
10 ALSISXAIEEER2IHEX 530,400 515,000 15,400
ozl 29 530,400
= 371,280
< 159,120
A& At 22l (=2) 60,322 58,445 1,877
= 60,322
308 AHAIEHHSOIA 60,322 58,445 1,877
= 60,322
01 HIXNHHNBHELS 60,322 58,445 1,877
ORXH& ALl 2t el 60,322
= 60,322
2EsEUA=+SHAESSNA(S1) 3,861,000 2,905,060 955,940
= 3,861,000
308 XXM SO A 3,861,000 2,905,060 955,940




2N

SXE3
H: 20IZMESH(MISEX/IZHEEE)
ool gYE NE - NE K (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 3,861,000
01 IXNHHBNEES 3,861,000 2,905,060 955,940
oIz 1 XNE 646,000
= 646,000
ougllssa XA 161,000
= 161,000
OosYINSSE 2 XN 1,917,000
= 1,917,000
oFdsLIZSEE XA 740,000
= 740,000
OFBEI M= X 397,000
= 397,000
EMTGN S#EATLH(MISXN/BEE - IFLOEY) 2,009,771 1,932,989 76,782
= 1,155,999
< 853,772
NEs HSEH 2,009,771 1,932,989 76,782
= 1,155,999
< 853,772
Moz 29 =8 8,200 8,200 0
201 L2l 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
OMEsLUH 2 5,000
202 04l 3,200 3,200 0
01 S LHOIYI 3,200 3,200 0
OMELHM 2 =& 3,200
CHAHEOHE SE X & 256,167 475,589 AN 219,422
308 AAEHHSOIA 256,167 475,589 A 219,422
01 HXNHHNBHELS 256,167 475,589 AN 219,422
OTXHIIE EEXA 256,167
MEs=2=2 UERT 243t XA 140,000 40,000 100,000
307 glz2tol & 140,000 40,000 100,000
02 It M AHEE 140,000 40,000 100,000
OZ3 MEd==5 HESRIZ 243 XA 140,000
MEMDHAS HH 3 2Ielaie X (=1) 39,496 39,496 0
= 27,647
< 11,849
307 21201 A 39,496 39,496 0
= 27,647
= 11,849
11T M3 SRASEEX 39,496 39,496 0
OMEMIE AN X 39,496
= 27,647




SA: 2X™ 2
Ha: BNHSE BHAZL(NAZX/ES - ISL0L)
Sl HEM HSHY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 11,849
CIeH s24dH 29X (=21) 520,756 350,704 170,052
= 421,200
== 99,556
307 2Iz2to| & 38,290 0 38,290
= 19,145
= 19,145
10 M SXAANEEHESIGHEX 38,290 0 38,290
OEH? UelNss84deH 2 38,290
= 19,145
& 19,145
308 XHXIGHHM SO0l & 482 466 350,704 131,762
= 402,055
& 80,411
01 IXHHIMNEXZ 482 466 350,704 131,762
OAZ CigtH==s4dEH 23X 482,466
= 402,055
& 80,411
CIe s24dH Jlse2d X (=21D) 855, 152 749,000 106, 152
= 707,152
o 148,000
307 212t0| & 107,923 0 107,923
= 67,923
o= 40,000
02 DIZEBAAIRE E X 107,923 0 107,923
O UelNss84dH JIis2d 107,923
= 67,923
& 40,000
403 XX SHHS K20 & 747,229 749,000 ANT1,771
= 639,229
& 108,000
01 XIS A=Z2E X 747,229 749,000 AN1,771
OANZ UENsEHE JsE2 747,229
= 639,229
= 108,000
et ss4dH 22X (ANESSHAIY) 190,000 270,000 A 80,000
308 MXISHMSOIA 190,000 270,000 A 80,000
01 IXHHIMNEEXTZ 190,000 270,000 A 80,000
OXEEIANY 2H 190,000
B8 0t XN (MIAEXN/BES - IIISLHY) 407,295,625 356,438,328 50,857,297
= 241,060,247
J] 3,105,751
== 163, 129,627
Ols=E XMl A XIS 123,765,225 79,465,779 44,299,446
= 74,845,009




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
OFSSXAH A K&

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Jl 3,105,751
< 45,814,465

Es0ts #dsd 47,200 54,200 AT7,000

201 ¢er24l 6,000 6,000 0

01 At 2t 2l 6,000 6,000 0
Ol0ls=X2d 2&s 24 6,000

307 21201 A 31,200 38,200 A7,000

11T MISRASER 31,200 38,200 A7,000
OA&0ls SadE1H 29 31,200

308 MtXIEHMSOIH 10,000 10,000 0

01 HIXNHHBHEELS 10,000 10,000 0
Oo0ts RA HAEE 10,000

Os=XoI2 24 470,550 410,000 60,550

307 glz2tol & 410,000 410,000 0

10 AL SXNAIEEE2EH EX 410,000 410,000 0
OOSAHAHAANE 29 410,000

308 XXIEHH SO0l A 55,000 0 55,000

01 AXHHISEES 55,000 0 55,000
OOEE o 252 XN 55,000

402 QI2H X201 M 5,550 0 5,550

01 2I2F 2 A B (RERTH ) 5,550 0 5,550
OOts=XAIE HLtedd] K& 5,550

Ots=4 X& 733,365 810,785 ATT,420

202 O4dl 6,000 6,000 0

01 =L 4 1 6,000 6,000 0
OO0ls=AAY =& 6,000

308 XXIEHH SOl A 727,365 804,785 ATT,420

01 XML EES 727,365 804,785 ATT,420
ogsts ots=4 722,245
OZAols SAEHEYE 2SI 5,120

ES0ts MEotE X2 404,454 391,352 13,102

308 XXM SO A 404,454 391,352 13,102

01 HIXNHHBNEES 404,454 391,352 13,102
250ts MEHE X 404,454

NEotsdEH 228 K& (21D) 7,331,142 6,740,352 590,790
= 6,109,285
< 1,221,857

308 XtXIEHH SOl A 7,331,142 6,740,352 590,790
= 6,109,285




AN SXEHD
M B 0l NA(MI=SX/ES - IHESL0HH)

& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

== 1,221,857

01 IXNHHBNEES 7,331,142 6,740,352 590,790
OXgotsdH 24 X 7,331,142
= 6,109,285
< 1,221,857

e NYotsHE XNE(=212) 237,935 237,936 A
= 198,280
= 39,655

308 XX EHHSOIA 237,935 237,936 A
= 198,280
< 39,655

01 X HHILEXS 237,935 237,936 A
S+ XNYotsdH XA 237,935
= 198,280
< 39,655

XSS HE S4+2RS NA(21) 197,317 197,316 1
= 164,430
< 32,887

308 AHXIEHHSOIA 197,317 197,316 1
= 164,430
< 32,887

01 HIXNHHNBMNELS 197,317 197,316 1
OXZotsHH S+=32d 23 197,317
= 164,430
< 32,887

ANEOtsSHEH EQ2Y XNA(=1) 78,798 78,797 1
= 65,664
< 13,134

308 XXM SOl A 78,798 78,797 1
= 65,664
< 13,134

01 AXHHILEES 78,798 78,797 1
OXgGotsdH E22F XA 78,798
= 65,664
< 13,134

OtsSSX A N3 (=12) 1,817,818 1,672,400 145,418
= 1,514,848
< 302,970

308 XtXIEHH SOl A 1,817,818 1,672,400 145,418
= 1,514,848
= 302,970

01 HXNHHBHELS 1,817,818 1,672,400 145,418
OXZotsdH OtsEX WAL X 1,817,818
= 1,514,848
< 302,970




2N
P ES s NEMIASX/ES -5 E)

el

X ZH
S =

EPARSE )

OFSSXAH A K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANSEotsdH NAE 2L (=21) 175,000 175,000 0
2 87,500
< 87,500
307 gl2tol & 175,000 175,000 0
= 87,500
< 87,500
10 AL SXNAIEEE2EH EX 175,000 175,000 0
OXNYotsdEH XA 24 175,000
= 87,500
< 87,500
NSOotsdH sZHd XA (=1) 339,456 666,000 A 326,544
2 282,878
< 56,578
403 MtXISHH S0l & 339,456 666,000 N 326,544
2 282,878
< 56,578
01 AXSHMA=2E X 339,456 666,000 A 326,544
OXYotsdE SdHe XA 339,456
2 282,878
< 56,578
ANEotsdH 22X 740,430 578,580 161,850
308 XX EHH SOl A 705,430 518,580 186,850
01 X HHILEES 705,430 518,580 186,850
OXdotsdH 29 252 N& 470,280
OXZotsdH sAdgH & 72,450
Ooo2ddl 22 & 162,700
403 MHXSHHSA=0l& 35,000 60,000 A 25,000
01 HXSHMA=E X 35,000 60,000 A25,000
OXdYotsdH JIs2d XA 35,000
XGOS HE 20l AU DA XIS 20,266 30,400 ~10,134
308 XX EHH SOl 20,266 30,400 A 10,134
01 IXNHHBNEES 20,266 30,400 A 10,134
OZ0 AN WA XA 20,266
XGOS HE ZAX NS 28,400 28,400 0
307 21201 A 28,400 20,800 7,600
11T MISXASEX 28,400 20,800 7,600
OXNSOtsHE SAA W= 7,600
OXZotsHH =H &totg X 20,800
YUolsS YS4+Y NA (1) 664,229 647,064 17,165
J| 611,790
= 52,439
308 XXM SO0l A 664,229 647,064 17,165




AN SXEHD
M B 0l NA(MI=SX/ES - IHESL0HH)

& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 611,790
= 52,439
01 IXNHHBNEES 664,229 647,064 17,165
ogelts == 664,229
J| 611,790
< 52,439
y=gI2t LAXA(=21) 3,724 1,064 2,660
J| 3,430
< 294
308 XX EHHSOIA 3,724 1,064 2,660
J| 3,430
< 294
01 AXHHILEES 3,724 1,064 2,660
oY=l 2K 3,724
J| 3,430
< 294
gdaHlg XA (=1) 30,803 25,202 5,601
J| 28,371
< 2,432
308 AHAIEHHSOIA 30,803 25,202 5,601
J| 28,371
< 2,432
01 HIXNHHNBHNEELES 30,803 25,202 5,601
og2dE XA 30,803
J| 28,371
< 2,432
ZOols dLLY=Ex3(=1) 89,659 69,449 20,210
J| 82,575
< 7,084
308 XXM SOIA 89,659 69,449 20,210
J| 82,575
< 7,084
01 AXHHILEES 89,659 69,449 20,210
OHMOls gLLd=EE2x=s XA 89,659
J| 82,575
< 7,084
QA0ts IIE K& 43,000 23,500 19,500
307 21201 A 10,000 5,000 5,000
11T M3 SRASEEX 10,000 5,000 5,000
ooy Jgal 10,000
308 XX EHSOIA 33,000 18,500 14,500
01 HIXNHHNBNEES 33,000 18,500 14,500
oOYA=sa XN 33,000
QES0E 188 25 29X (=21) 852,150 813,469 38,681




2 EXNFH
HM: BF 0ts XA (MIEXN/ES - LM Y)
¢ otsSSEXAMUA X (cho &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

655,500
196,650

mn

308 MHXIHHMS0OIH 852,150 813,469 38,681

655,500
196,650

mn <

01 XM EES 852,150 813,469 38,681

ORESs 158 B 29 ¥ 852,150
Jl 655,500
196,650

f

IEEolE dolEEE XA (21) 71,500 70,200 1,300
50,050
21,450

A

307 glztol & 71,500 70,200 1,300

50,050
21,450

o

o
(e))
HT
1]
]

71,500 70,200 1,300
71,500

50,050
21,450

©
0z
%
HT
0o
I
b
o

oy

i
02
o
0%
H0
Jm
(=}
o
0>
af
pal
1]
b=
40
>
[Q
H
[

20,064 20,064 0
18,480
1,584

o

308 MHXItHMS0IH 20,064 20,064 0
18,480
1,584

Mo

01 XM EES 20,064 20,064 0
oYY - JIE/AEOES HelXlsH K& 20,064

18,480

1,584

o

OlsZLE AR X (=1) 1,134,285 958,085 176,200

,044,736
89,549

oW

308 AHXIEHMSO0IE 1,134,285 958,085 176,200

,044,736
89,549

oy

01 AXHHBLEES 1,134,285 958,085 176,200
E , 134,285

,044,736
89,549

©
(=
O
e
e
aal
{0
X
[y
fa
0

oW

Os=EXAE JIs22d X&(=21) 122,076 20,800 101,276

93,905
28,171

S

f

403 A X EHHS =0l A 122,076 20,800 101,276

J| 93,905
< 28,171

01 AXISHHA =22 &= 122,076 20,800 101,276




SH SNEHY
o 28 015 N(MSZX/25 - )5

B[y
Ho
=
0x

¢ otsSSEXAMUA X (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
OOsS=EXAALE JDisEY 122,076
J| 93,905
= 28,171
OFSLANESAE 29 605,170 581,269 23,901
307 212t01 & 605,170 581,269 23,901
10 MM SAANEEHESIGHEX 605,170 581,269 23,901
O0ISLANEBESALE 24 605,170
OlSE2sdE0|2 2H(=21) 2,541,760 2,493,482 48,278
J| 1,270,880
o= 1,270,880
307 QI2t0| ™ 2,541,760 2,493,482 48,278
J| 1,270,880
o= 1,270,880
10 AISIEXAIEEHE2IHIEX 2,541,760 2,493,482 48,278
O0lsEsdEIN& 849 2,541,760
J| 1,270,880
& 1,270,880
StHIloiols & 29 (=21) 467,090 404,678 62,412
J| 359,300
& 107,790
308 XHXIEHSOIA 467,090 404,678 62,412
J| 359,300
== 107,790
01 AIKISHHMEMNEX= 467,090 404,678 62,412
ostHIaiolsay 249 467,090
J| 359,300
o= 107,790
2o 29 270,000 270,000 0
307 QI2t0| & 270,000 270,000 0
10 MM SAANEEHESIGHEX 270,000 270,000 0
oOZHIIA 24 270,000
IIE/AEXNHEH &9 636,500 609,500 27,000
307 QI2t0| ™ 636,500 609,500 27,000
10 A EXNAEEHE2IGH EX 636,500 609,500 27,000
OJIE/AEXNJHLE 2 636,500
IIEREXNJAANAEH Js B2 30,000 0 30,000
402 BI2H X201 M 30,000 0 30,000
01 It EANSEXR (M) 30,000 0 30,000
OJIE/AEXNRAHLE JIsEL 30,000
CSAEE EgtAtd e (21) 4,597,775 4,603,000 N5, 225
= 4,277,000
& 320,775




2N
P ES s NEMIASX/ES -5 E)

el

X ZH
S =

EPARSE )

OFSSXAH A K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 4,597,775 4,603,000 A5,225
= 4,277,000
< 320,775
01 HIXNHHBHNEELES 4,597,775 4,603,000 N5,225
Oots SetMUlA XI& 4,597,775
= 4,277,000
< 320,775
ots=g =20 XN3(=21) 65,609, 135 54,839,595 10,769,540
= 59,655,965
< 5,953,170
308 XXM SO A 65,609, 135 54,839,595 10,769,540
= 59,655,965
< 5,953,170
01 AXHHBILEES 65,609, 135 54,839,595 10,769,540
Oots=%g =0 X= 65,609, 135
= 59,655,965
< 5,953,170
Ots4+2 XX AtEH X (=1) 23,700 23,862 A 162
= 21,000
< 2,700
308 XtXIEHH SOl A 23,700 23,862 A 162
= 21,000
< 2,700
01 HXNHHNBHEELS 23,700 23,862 A 162
Oo0ts==% XXM AtRHH X2 23,700
= 21,000
< 2,700
Folla+=g N 31,906,350 0 31,906,350
308 XX EHSOIA 31,906,350 0 31,906,350
01 HIXNHHNBNEELS 31,906,350 0 31,906, 350
osolE=¢ 31,906,350
BSZ20sS NEsY X (22) 1,378,944 699,774 679,170
= 1,313,280
< 65,664
308 XX SIS0 & 1,378,944 699,774 679,170
=2 1,313,280
< 65,664
01 X HHILEES 1,378,944 699,774 679,170
oEs&sxz0ts MNE=E X& 1,378,944
= 1,313,280
< 65,664
dAdXsots REX(21) 45,180 24,224 20,956
= 41,613
< 3,567




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
OFSSXAH A K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 45,180 24,224 20,956
= 41,613
< 3,567
01 HIXNHHBHNEELES 45,180 24,224 20,956
OZAHEXsOtEs NHEXA 45,180
= 41,613
< 3,567
E=MHA 235 283,530,400 276,972,549 6,557,851
= 166,215,238
=) 117,315,162
ESMY S 12,000 12,000 0
201 LBt 6,000 6,000 0
01 At 22l 6,000 6,000 0
OESHHAAS 29 6.000
202 4l 6,000 6,000 0
01 = LH 4 1l 6,000 6,000 0
ESAY =& 6,000
g2sg FE2RE=s A& 1,692,891 1,578,863 114,028
308 A EHHSOIA 1,692,891 1,578,863 114,028
01 HXNHHBHELS 1,692,891 1,578,863 114,028
osszg R2RE3 S XA 1,692,891
SIS XNAMH 2g9(=1) 494,764 416,432 78,332
= 247,382
< 247,382
307 glz2tol & 494,764 416,432 78,332
= 247,382
< 247,382
10 ALSISXAIEHE 22X 494,764 416,432 78,332
T SOHEENEH 29 XA 494,764
= 247,382
< 247,382
ANz SOXJMEH JHEe=s N (=1) 36,000 15,000 21,000
= 30,000
< 6,000
308 XtXIEHH SOl A 36,000 15,000 21,000
= 30,000
< 6,000
01 AXNHHBAMNEES 36,000 15,000 21,000
OAlZ SO0EEXNJALH H3Ls XA 36,000
= 30,000
= 6,000
SIS HH 28 XA 84,000 28,000 56,000




2N
P ES s NEMIASX/ES -5 E)

el

X ZH
S =

EPARSE )

S AMEIA Z3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 84,000 28,000 56,000
01 HIXNHHBHNEELES 84,000 28,000 56,000
OANZ SOIESENIAEH 29 XA 84,000
Helold wa BExu=s(321) 97,350 72,320 25,030
= 48,675
< 48,675
307 glz2+ol & 97,350 72,320 25,030
= 48,675
< 48,675
11T MISRASER 97,350 72,320 25,030
O0eold W EF:N=| 97,350
= 48,675
< 48,675
Ogoly gdst=EH=2 X 60,786 73,710 A 12,924
308 XtXIEHHSOIA 60,786 73,710 AN 12,924
01 AXHHILEES 60,786 73,710 A 12,924
OMASE Ols gstEHI= X&E 60,786
ooy 32 XA 337,720 273,760 63,960
308 A EHHSOIA 337,720 273,760 63,960
01 HXNHHBHELS 337,720 273,760 63,960
ongod & & N 257,720
O0gold CCTV 2ot =2 80,000
Oegold sZMe X (21) 1,044,750 752,050 292,700
= 696,500
< 348,250
403 Ut S E X201 H 1,044,750 752,050 292,700
= 696,500
= 348,250
01 X SHHX2E= 1,044,750 752,050 292,700
Ooeold &#ZHs 1,044,750
= 696,500
< 348,250
Heoly g&(=21) 2,173,698 983,250 1,190,448
= 1,509,132
< 664,566
403 MHXSHHSA=0l& 2,173,698 983,250 1,190,448
= 1,509,132
< 664,566
01 HXSHMA2E X 2,173,698 983,250 1,190,448
O=38 a0l &= 2,173,698
= 1,509,132
= 664,566
2] MHlA 2 &4 X2 507,750 75,000 432,750
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SH SNEHY
X ZH
L=}

&S ESMHA 25

P E ot XY (MIEX/ES - HEL0Y)

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 UHXSHHSA=0l& 507,750 65,000 442,750
01 X SHMA2E X 507,750 65,000 442,750
O0gold eadie XA 507,750
Helold w2 HRMd XA 1,552,056 1,573,343 N21,287
308 XXM S0 A 1,552,056 1,573,343 N21,287
01 IXNHHBNEES 1,552,056 1,573,343 N21,287
OUEOIE AA HR2ML XA 1,552,056
Helold sSAL 8248 W1 88,000 88,000 0
307 21201 A 73,000 73,000 0
11T MISXASEEX 73,000 73,000 0
o0eold 2582 M1 A48 2 W=s X 73,000
308 XXM SO0 15,000 15,000 0
01 HXNHHNBHEELES 15,000 15,000 0
ZENE0® stotsHs 15,000
gotegz XN (=21) 111,541,313 113,671,652 A 2,130,339
= 89,377,000
= 22,164,313
308 XXM S0l A 111,541,313 113,671,652 A 2,130,339
= 89,377,000
< 22,164,313
01 IXNHHBNEES 111,541,313 113,671,652 22,130,339
ogsotEsz XN& 111,541,313
= 89,377,000
< 22,164,313
NZHHESAMEIA M3XA(=1) 575,600 393,829 181,771
= 432,000
< 143,600
307 21201 A 40,000 36,940 3,060
= 20,000
< 20,000
10 ALSISXAIEEE2IHEX 40,000 36,940 3,060
OAZIN ESAMEIA MSX&E(220]12) 40,000
= 20,000
< 20,000
308 XXM S0 A 535,600 356,889 178,711
= 412,000
< 123,600
01 HIXNHHNBMNEES 535,600 356,889 178,711
OAZIH EEMHIA MK 535,600
= 412,000
< 123,600
Sy Ex3 XA 56,539,560 58,119,480 A 1,579,920




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
S AMEIA Z3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 56,539,560 58,119,480 A 1,579,920
01 HIXNHHBHNEELES 56,539,560 58,119,480 A 1,579,920
Oxcltd 212 XA 56,539,560
¥ g=sSY N (=2) 24,788,026 27,357,241 A 2,569,215
= 19,818,000
=) 4,970,026
308 XXM SOIA 24,788,026 27,357,241 A 2,569,215
= 19,818,000
=) 4,970,026
01 AXHHBISEES 24,788,026 27,357,241 22,569,215
oljgg=s=¢g A& 24,788,026
= 19,818,000
< 4,970,026
SSE0l0Iy XA (=2) 3,902,840 3,276,180 626,660
= 2,632,000
= 1,270,840
308 XtXIEHHSOIA 3,902,840 3,276,180 626,660
= 2,632,000
= 1,270,840
01 HXNHHNBHELS 3,902,840 3,276,180 626,660
O=380eod XN& 3,902,840
= 2,632,000
< 1,270,840
HEOHOH s B2 1,300 11,154 A 9,854
308 X EHSOIA 1,300 11,154 AQ,854
01 HXNHHNBMNEES 1,300 11,154 A9Q,854
OgEeotEs guts B2 1,300
22 ZUHEH 2EXA(21) 44,330 30,919 13,411
= 34,100
< 10,230
308 XXM SOIA 44,330 30,919 13,411
= 34,100
< 10,230
01 AXHHBILEES 44,330 30,919 13,411
ORE ZLHEH 29 X& 44,330
= 34,100
< 10,230
WA oA XN (212) 49,696,421 45,937,116 3,759,305
= 33,418,112
< 16,278,309
308 XtXIEHH SOl A 49,696,421 45,937,116 3,759,305
= 33,418,112
= 16,278,309
01 HXNHHBHELS 49,696,421 45,937,116 3,759,305

- 22 -




2N
X ZH -
L= B

el

SXE3
2= 0ts XN (AtE
S AMEIA Z3

It
P}
I
Ho
=
B[y
He
X
0x

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEswx3 o4l XA 49,696,421
= 33,418,112
< 16,278,309
B2 H2ME XA (=) 25,572,389 21,199,984 4,372,405
= 17,002,840
= 8,569,549
307 21201 A 373,096 2,338,000 A 1,964,904
= 19,763
< 353,333
11T MISRAASEX 373,096 2,338,000 A 1,964,904
ONeold M A XI& 373,096
= 19,763
< 353,333
308 AHAIEHHSOIA 25,199,293 18,861,984 6,337,309
= 16,983,077
< 8,216,216
01 HXNHHNBMNELS 25,199,293 18,861,984 6,337,309
OE=ENIZ MM XA 25,199,293
= 16,983,077
< 8,216,216
oelold X2 (=21) 1,443,656 1,033,266 410,390
= 969,497
< 474,159
308 XXM SOl A 1,443,656 1,033,266 410,390
= 969,497
= 474,159
01 IXNHHBNEES 1,443,656 1,033,266 410,390
oogols K& 1,443,656
= 969,497
< 474,159
Heold Exed dXxtel N2 1,243,200 0 1,243,200
308 XtXIEHHSOIA 1,243,200 0 1,243,200
01 AXNHHEBANEES 1,243,200 0 1,243,200
Ooeold 2xo8 dXtel XI& 1,243,200
HE2AZAH (SN D) (IIEH/IIE) 68,418 69,858 A 1,440
Jl=&l 68,418 69,858 A 1,440
2A2Y JI23tl 68,418 69, 858 A 1,440
201 Let24d] 43,458 43,458 0
01 At 2teltl 43,458 42,458 1,000
ORA2Y AtR2eltl 43,458
202 O4dl 13,500 15,000 A 1,500
01 S LHAYI 13,500 15,000 A 1,500
FN2E =LY 13,500

_23_




SN =2XEYY
HM: HY2HAAH (2R ZH =) (IIEH/IIEH
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
203 R F & 11,460 11,400 60
01 JI22HYRFAH| 6,600 6,600 0
oO=% 6,600
04 ENSIELRF=XH| 4,860 4,800 60
©31¢2! 0] &t 405,000 12 4,860
HEess(2NEHHY)(AISIEX/FHLAHSIH) 48,166,335 43,223,786 4,942,549
LHEAHeH X = 48,166,335 43,223,786 4,942 /549
o230l AH 48,166,335 43,223,786 4,942 549
701 JIEISI HSHE2 48,166,335 43,223,786 4,942 /549
01 JIEtSI HE &= 48,166,335 43,223,786 4,942,549
O=Z2WIIZ2ELEIIH &2 48,166,335

_24_




= A
AOZ ol & A S A A
SA: SXEM
HE: RO ZMHER(AMISX/IZMEET)
chel: 9 230{JI2 2 (A230II2 2SS H) (ol &)
- _ _ RE!
S E B (3H) - MBAY - BES Ol &F o4 %@ﬁ HD=2
SX & 333,128,995 299,258,000 33,870,995
= 264,661,322
= 68,467,673
IO ZMEBT(AMEEX /I ZMBRE) 333,042,847 299, 171,205 33,871,642
=2 264,607,522
o= 68,435,325
ABZ0II2 2L (ABSHIIZSASLH) 333,042,847 299,171,205 33,871,642
= 264,607,522
o= 68,435,325
230 WEAUIA X (21) 326,596,277 292,929,797 33,666,480
= 261,277,020
o= 65,319,257
201 Yere | 757,859 722,217 35,642
= 606,286
& 151,573
01 AP 2t2l bl 757,859 722,217 35,642
ORIE - A2 757,859
= 606,286
== 151,573
403 XA S K201 A 325,838,418 292,207,580 33,630,838
= 260,670,734
== 65,167,684
02 BI2SHUESX=2ERAEAISHI 325,838,418 292,207,580 33,630,838
oflzHl Hse=2 325,838,418
= 260,670,734
o= 65, 167,684
J220! MALHMAAEE(2L)(AR) 2,777,045 2,591,603 185,442
=2 2,348,830
& 428,215
308 AKX SHAMSOIA 2,777,045 2,591,603 185,442
= 2,348,830
& 428,215
01 IXHHIMNEXZ 2,777,045 2,591,603 185,442
ool 2 #3233 85,371
= 72,208
= 13,163
ORLAH &L HOMHAE=XD|D PUXA 1,650,324
= 1,395,846
& 254,478
o=0 2y BaZ 94,797
= 80,180
= 14,617
oA MEF X HI| 946,553
= 800,596
& 145,957
o220 =X (=21) 197,006 179,086 17,920
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SN =SXHHD

B B0 EMESE(NB=N/IIZMEDE)
gl A2300I3 2E(A2S0HIIS2ESEA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 99,872
< 97,134

201 LBH2E| 10,000 10,000 0

01 At 22l 6,000 6,000 0
O2Az==0 Le2d 6,000

03 &AL Z I 4,000 4,000 0
oAz 2ACIAL HEF 4,000

202 O4dl 12,230 12,230 0

01 =S LHAYI 12,230 12,230 0
ogzs0gR =2 12,230

308 XXM SOIA 174,776 156,856 17,920
= 99,872
< 74,904

01 XML EES 174,776 156,856 17,920
od&EAHl X& 174,776
= 99,872
< 74,904

ol gl gl ,590,719 2,590,719 0

801 Ol I ,590,719 2,590,719 0

01 BHoil bl bl ,590,719 2,590,719 0
©uldl bl ,590,719

2020 At Zt2l XA NS (=12)(A2) 881,800 880,000 1,800
= 881,800

308 X EHSOIA 881,800 880,000 1,800
= 881,800

01 HXNHHNBMNELS 881,800 880,000 1,800
ooz &Ll ALY 881,800
= 881,800

HYSHAH (SX =) (IIEHIIE) 86,148 86,795 647
= 53,800
< 32,348

OHA2IH(AESHII22ESLEIA) 86,148 86,795 A 64T
= 53,800
< 32,348

oz A2A 2Y(=21) 86,148 86,795 A 647
= 53,800
= 32,348

101 124 dl 86,148 86,795 A 647
= 53,800
< 32,348

03 RIAHAZZ2THE = 86,148 86,795 A 64T
Ozl AH(2E) 77,228
= 53,800
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SN =SXHHD
o WHSABH(SNZ D) (OIEHIIE)
S EEENICEERMEEEEEEP )
B dE T
SA-3H-S(3AH) - MRAS - BES Off &t 24 Ol AF o
= 73,428
CEEE L E! 8,920
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